http://www.howtoexam.com

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
All questions carry equal marks.

Fach answer should not exceed 500 words.

20. Pass rectification entries for the following

transactions :

- (a) A builder’s bill for Rs. 4,600 for the erection of

"a small shed was debited to repair a/c

(b) A cheque for Rs. 750 received from Desai was
credited to the account of Ram.

(¢) Goods sold to Z for Rs. 475 .have been wrongly ‘

entgred in the sales book as Rs. 745.

(d) Goods to the value of Rs. 700 returned by X

were included in closing stock, but no-entry
was made in the books.
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Explain ‘the advantages of departmental
accounting. -
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A sold goods to B as detailed below :

Date of Invoice Value of goods sold (Rs.)
5.5.03 . 3,000
12.5.03 S 1007
19503 3,500
26.5.03 2,250
1.6.03 2,000
. 3.6.03 : 1,000

The payments were agreed to be made by bills
payable 90 days form the respective dates of the
invoice. But ‘B’ wanted to average for payment of
all the bills to be made on a single date. Calculate
the date on which such a payment could be made.
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